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308 XXM SO A 30,000 30,000 0
08 WEII20HStE X 30,000 30,000 0
ogs = AESW(sLsel)
30,000,000 =14l 30,000
ZOHASKIAIE SAXR A3 10,000 15,000 A5,000
307 glz2tol & 10,000 15,000 A5,000
11T M XA EX 10,000 15,000 A5,000
OFMA=X ALY SAL HE3F(10021)
10,000, 000& 14! 10,000
ZHAU=SXAAS 2+ 1,470 0 1,470
201 ¢er24| 1,470 0 1,470
01 At 22l 1,470 0 1,470
O3 2d=¢ 1,470
DHMA=EXNAAE 2A&FL =
70,000& »7Q1 x33] 1,470
Ne2es(F=2Z0elt) 1,808,000 820,000 988,000
RSN 1,808,000 820,000 988,000
Kl XH &F 2 1,808,000 820,000 988,000
311 Xt S0l A&t & 508,000 520,000 A 12,000
01 Al -2 - FXNENLII =KL S0I RS 508,000 520,000 A 12,000
OFEIJHEY &MY 508,000,000 » 14! 508,000
601 XL SAS&E 1,300,000 300,000 1,000,000
01 Al -2 - FRNEHLI UL =SS 1,300,000 300,000 1,000,000
OF2 3348 Z4AE  1,300,000,000& 141 1,300,000
#Y2LIH(Z2HF0en) 105,782 105,941 A 159
IHA2IH(FZZ0Q ) 49,210 50,393 21,183
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